[ ]
o4 =EHii A E o|l-0 =eH3ix > )
HE| SYE A|ABIE IFA X71 U= diX| 2=, DY, 712 7}
|
=
£ Moy/HIE ol0|x|
MO
=
HE M. N
55 #a|2 Qlsf x| SYZE He| IUTofl B ELIC AX| N
g S3 2 UL Jts. IUTY UAE S04 2T MIUES o
o= gxo|m, THE 1HA X0 ZHES T2 AR
CiE oxlof 7HZE 71 &2 S8 X SZE 0S5 7iLL QAE &

THE:
HE AX| U SHE MIHE F5t AEL
EM OlF2]:

4.

= AX| SH-EZ = UE| 2HEE MG Blld K17461 AHSE Mioj 2t

Arel=lL|C}

HHH .

SH Y 7Y A3 0L AF 1P| ALSELCHL

22 B30l = JHo| LAt £ &0| Qlof Alxo| 93 m|A SR 7
Ol sl & AERIE FIIE ZEIE = UBLICH

HqH:

BME BYn 1 HA Zo| 50 AFUS S5 2HLO| iR =2 &
S YD E EYELIC

3= LHY:

A% S

T LEAF

T&R 1HE

[
@ <L
2L B=50/72
g
2O v
zZ 6 81,
[@S]@r
g2 20
FE®Ms ©Y L L B HBIHI H3 D DI F G Z ZHEE 29 £
min. max. QFLEAL LA HAFTR AASHE AR AASHEAIF max. kN max. Nm
DIN 912 DIN 912 DIN 912
K1749.0500412 D 75 81 50 25 3012535 M5 M6 - M12x30 M12x25 30 85
K1749.0720416 D 95 103 72 39,744 21335 M6 M6 - M16x50 M16X40 50 150
K1749.1000416 D 111,5 1215100 42,6 64 21,6 5 M8 M8 M14X1,5X50 - M16X40 50 150

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



K1749_D

HE| SE ALHES 0FA] =71 U= X

olr

= 29

o

© HEINRICH KIPP WERK GmbH & Co. KG

D, 715 7t

www.kipp.com - info@kipp.com

Kinn

2/2



